D.S

J.S

T.A

SS

Mg

EDS

Mg




150
o
120
2
=
= 90
IS
E A
< 60
L 2
30 A
A
0 T
30 60 90 120 150
a (mm)
d
150
——1
——2
120 o 4+ 3
4
’é 90 ——5
£ —+—6
< 60 7
——38
30 — ——9
A
0 A
30 60 90 120 150
a (mm)




150

1
ST
A
100
>
" AB
A
50
0
0 20 40 60
2
34
y = 1.8518x + 34.265
150 ‘|
'S 'h/'

);'/.'{

100
v
1
/ :
50 /’

0

0 10 20 30 40 50 60




y = -0.0265% + 3.8392x

150 ‘I
o

: P

50 /

34mm




0% 20% 40% 60% 80%

100%

OMg
mCa
OMn
OFe
W Sr

Mg 6 25
Ca CaCOs
Mg

=R

BH

Mg



EDS X

EDS Ca

EDS Mg



